Honors Algebra 1 Name ID: 1

10.3 to 10.6 Solve QE 's (all methods) Date Period

Solve and check by Graphing. Clearly graph each function labeling the vertex, A.S., and
solutions (x). - - _
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Solve each equation by taking square roots.
4) -4x* +1=-143 —> _-\{x - _qu 5) 3xt+d=41 — 5 -S¥%- 33

{6, -6} - X=N0 real solution
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Solve each equation by Completing the square.
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Solve the equation by completing the square. (Tip: Remember what to do when A NE 1)
8) 7x+14x-21=0 __ 5 x2+4+2x -3 =0
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Solve each equation with the Quadratic formula.
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Solve each equation with the quadratic formula.
1) 3 —6=0 P=-3 20 (c-L
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Solve each equation using the easiest method (taking square roots, completing the square,

quadratic formula, or factoring) FAcna
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